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�>4E65F>4

�<>D>D>=

�<=4<<>

�=>?>4 E5D>E4 %?>F MicroSD < nanoSIM

�E=>6=O5 E6545=<O

�=F5==O

�>=F46=>5 >E=>64=<5

%?>F MicroSD < nanoSIM
�=>?>4 E5D>E4

1 4G 4=F5==O <E?>?L7GNFEO 4?O 55E?D>6>4=>7> ?>4>?NG5=<O > E5F< �=F5D=5F.

2 �>=F46=>5 >E=>64=<5 4?O <>=F464 >4<5DO =4 EF5=G <?< ?>F>?>>.

3 �<=4<<> 4?O ?5D544G< 76G>4 E> E<4DFD>=4 G5D57 FOX Smart.

4 �=>?>4 E5D>E4 (Reset), 4?<F5?L=>5 =464F<5 >=>?>< (7-10 E) E5D4EO645F 

   =4EFD>=>< 6<45>>4<5DO =4 746>4E><5.

5 �<>D>D>= 4?O D>D<<D>64=<O 4G4<>?>F>>4 G5D57 FOX Smart.

6 �>4E65F>4 WLED+�� 4?O G5F>>7> <7>5D465=<O 6 F5<=>F5.

   &4>65 E65F>4<>4O 6O?>?=ONF DG=>F<N <=4<>4F>D4 E>EF>O=<O GEFD>=EF64.

7 �5D6O= E?>F 4?O GEF4=>6>< >4DF microSD Class 10 5<>>EFLN 4> 256 ��.

8 �F>D>= E?>F 4?O GEF4=>6>< nanoSIM >4DFO 4?O E6O7< E GSM �?5D4F>D4<<.

��������!

nanoSIM GEF4=46?<645FEO G7>?>>< 6?5D54, >>=F4>F4<< 6=<7 E>7?4E=> D>F>.

MicroSD GEF4=46?<645FEO G7>?>>< 6?5D54, >>=F4>F4<< 665DE E>7?4E=> D>F>.
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�4==4O >4<5D4 <<55F 6>7<>6=>EFL GEF4=>6>< =4 EF5=G, 

?>F>?>> < =4 ??>E>GN ?>65DE=>EFL.

�<65 ?D<6545=O 64D<4=FO GEF4=>6><.

'EF4=>6>4
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  �4EFD>=>< 4G

- �>F<6<DG=F5 < ?D>65DLF5 SIM >4DFG, ?>?>?=<F5 EG5F < G554<F5EL GF>
F4D<D ?>76>?O5F D45>FG <=F5D=5F4 =4 <>45<4E <?< D>GF5D4E, <=4G5 
FX-C4SL (%<?GE4) =5 E<>65F ?>4>?NG<FLEO > E5F< �=F5D=5F.

- �D5645 G5< ?D><76>4<FL <>=F46, G554<F5EL, GF> E<?4 E<7=4?4 4G

6 <5EF5 GEF4=>6>< >4<5DO 4>EF4F>G=> 6OE>>4. 
- 'EF4=>6<F5 nanoSIM >4DFG. 

- �>44=F5 ?<F4=<5 =4 6<45>>4<5DG, 4>64<F5EL 55 747DG7><.

- �>4>?NG<F5 >4<5DG > E5F< 4G 4> F>7> >4> ?D<EFG?<F5 > <>=F46G.

4G

%>4G4FL ?D<?>65=<5

�?O ?>4>?NG5=<O FX-C4SL (%<?GE4) > 55E?D>6>4=>= E5F< 4G =5>5E>4<<> 

E>4G4FL < GEF4=>6<FL <>5<?L=>5 ?D<?>65=<5 FOX Smart =4 GEFD>=EF64E 

=4 5475 Android <?< iOS. �D<?>65=<5 <>6=> 55E??4F=> E>4G4FL <7 

Play Market < App Store. 

�?O ?>?GG5=<O EEO?>< 4?O E>4G<64=<O <E?>?L7G=F5 

QR->>4, ?D54EF46?5==O= =<65:

AndroidiOS

�>4>?NG5=<5
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�D>F5EE D57<EFD4F<<

,47 1   

               

                

,47 2       �O55D<F5 EFD4=G, 6654<F5 44D5E M?5>FD>==>= ?>GFO, ?D>65DLF5 

E>7?4L5=<5 > >>=D<45=F<4?L=>EF< < =46<<F5 «�>?GG<FL

?D>65D>G=O= >>4»

�D>65DLF5 ?>GFG < E>>?<DG=F5 >>4 ?>4F65D645=<O <7 ?<EL<4.

�4F5< 6654<F5 >>4 ?>4F65D645=<O < 7465DL<F5 D57<EFD4F<N.

�F>D>=F5 ?D<?>65=<5 FOX Smart, =46<<F5 

«�4D57<EFD<D>64FLEO», GF>5O 74D57<EFD<D>64FLEO.

�E?< G 64E G65 5EFL GG5F=4O 74?<EL, =46<<F5 «�>=F<», GF>5O 6>=F<.

�4EFD>=>4



6

,47 3      

%>744FL 4><

�?O G4>5EF64 ?>?L7>64=<O D5>><5=4G5< E>744FL «�><»  4?O 
>464>7> >5N5>F4, 745 <>6=> G>474FL >F45?L=O5 ?><5M5=<O.
�46<<F5 «�D>D<?L»>«'?D46?5=<5 4><><»>«%>744FL 4><», 
G>46<F5 =4764=<5 4><4 (=4?D<<5D >64DF<D4, 44G4, D45>F4),
< 6O55D5F5 >>?<G5EF6> ?><5M5=<= < =46<<F5 «%>ED4=<FL».
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�46<<F5 «+»>«�>546<FL GEFD>=EF6>»>«�4<5DO 4G»
>«FX-C4SL (%<?GE4)».

,47 4      

�>4>?NG<F5 ?<F4=<5 > >4<5D5 < 4>64<F5EL 747DG7>< (~1<<=.)

74F5< =46<<F5 «�4?55»

$5>><5=4G5< E5D>E<FL  =4EFD>=>< >4<5DO =4 746>4E><5 GEF4=>6>< 

G45D6<64O >=>?>G E5D>E4 7-10 E5>G=4.

 

,47 5      

�>546<FL GEFD>=EF6>
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�4EFD>=>< WIFI

�4?D46LF5 E75=5D<D>64==O= QR >>4 =4 M>D4=5 E<4DFD>=4 
?DO<> =4 >5N5>F<6 >4<5DO.
� E?GG45 G44G=>7> EG<FO64=<O, >4<5D4 <744EF 76G>>6>= E<7=4?,
=46<<F5 «'E?OL4? 76G>>6>= E<7=4?».
�E?< 76G>>6>= E<7=4? =5 ?D>76GG4? F> 65D=<F5EL > ,47G 5 <
E5D>ELF5 >4<5DG =4 746>4E><5 GEF4=>6><.

,47 6
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�>64<F5EL ?>4>?NG5=<O >4<5DO.
�>E?5 GE?5L=>7> 4>546?5=<O >4<5DO =46<<F5 «�465DL5=>». 

,47 7 

QR >>4 < ?>4>?NG5=<5

FX-C4SL (%<?GE4)
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�>74D46?O5<, 6O ?>4>?NG<?<EL > 6<45>>4<5D5!,47 8 

�>F>6>!

FX-C4SL (%<?GE4) FX-C4SL (%<?GE4)
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�>6>D>F/�4>?>=

�>6>D4G<64=F5 >4<5DG, ?5D5F4E><64O <7>5D465=<5 6 ?D<?>65=<< <?< 
<E?>?L7GO EFD5?><(6>?44>4 «�4?D46?5=<5»).

�D< >5=4DG65=<< 46<65=<O, >4<5D4 >F?D46<F 64< push-G654><?5=<5 
< >?>65EF<F 6 ?D<?>65=<<.

�5=4DG65=<5 46<65=<O

�6GEF>D>==55 4G4<>

�E?>?L7G=F5 7=4G>< <<>D>D>= < 4<=4<<> 4?O F>7> GF>5O ?D>E?GL4FL 
<?< ?5D544FL 4G4<> E>>5M5=<5 =4 >4<5DG.

�4<5D4 D4E?>7=4EF =5>5OG=O5 76G>< < >F?D46<F 64< push-G654><?5=<5 
< >?>65EF<F 6 ?D<?>65=<<.

�5=4DG65=<5 76G>4

�4<5D4 5G45F 6D4M4FLEO < E?54<FL 46F><4F<G5E>< 74 46<6GM<<<EO 
>5N5>F4<<, >>744 MF4 DG=>F<O 6>?NG5=4.

�FE?56<64=<5 46<65=<O

�O <>65F5 6>?NG<FL ?D<64F=O= D56<< 6 E>>F65FEF6<< E ?>FD55=>EFO<<. 
�>744 DG=>F<O 6>?NG5=4, >4<5D4 5G45F =4E>4<FLEO 6 E?OM5< D56<<5 557 
<>=<F>D<=74, GF> <>65F ?><>GL 74M<F<FL 64LG >>=D<45=F<4?L=>EFL.

�D<64F=O= D56<<

$G=>F<>=4? ?D<?>65=<O



�5=L �>GL
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�5D565D=<F5 <7>5D465=<5 665DE <?< 6=<7, 5E?< 6O GEF4=>6<F5 >4<5DG 
?5D565D=GF>. 'F>5O ?5D565D=GFL <7>5D465=<5, =46<<F5 7=4G>> 
«�4EFD>=><» =4 6<45>, 74F5< «�E=>6=>= =45>D DG=>F<=». 
�46<<F5 >=>?>G «�5D56>D>F <7>5D465=<O».

�5D56>D>F <7>5D465=<O

�4?<EL 6<45> =4 microSD >4DFG 6>7<>6=> >4> ?>EF>O==> F4> < ?> 
46<65=<N (?>445D6<645FEO <4>E. 256GB).
�4?<EL 6 >5?4>> >EGM5EF6?O5FEO F>?L>> ?> 46<65=<N.

�4?<EL 6<45>

�5 G?GE>4=F5 =< <<=GFO 4465 6 ?>?=>= F5<=>F5 5?47>44DO <>M=><G 
=>G=><G 6<45=<N.

�5=L/�>GL

$G=>F<>=4? ?D<?>65=<O

�>?>?=<F5?L=4O <=D>D<4F<O =4 E4=F5: www.fox-cctv.ru

   &5?5D>= F5E=<G5E>>= ?>445D6><: 8(800)100-21-32

        �6>=>> 55E??4F=O= ?> 6E5= F5DD<F>D<< $$
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&5E=<G5E><5 E4D4>F5D<EF<><

%5=E>D: 1/2.899 CMOS

$47D5L5=<5: 2560x1440, 4�?

�5N5>F<6: f=2,8 <<

'7>? >57>D4 (7>D.) / (65DF.): 110°/55°

��-D<?LFD: �4

�>4E65F>4: WLED+�� 4> 20<

'G6EF6<F5?L=>EFL: 0,15�> / F1.2 (�� 6O>?.)

�<>D>D>=: �4

�>6>D>F=>5 GEFD>=EF6>: �>6>D>F: 310°, =4>?>=: 140°

�<=4<<>: 1�F, 8�<

�>445D6>4 >4DF ?4<OF<: �4DFO microSD Class 10 < 6OL5

�<>>EFL >4DFO ?4<OF<: 4> 256 �� 6>?NG<F5?L=>

�5?4G=>5 ED4=<?<M5: �4 (�?4F=4O GE?G74)

�<45>>>45>: H.265

�44D>6O 6 E5>G=4G: 20�/E

�G4<>>>45>: PCM

�<FD5=F: 32 �5<F/E 3 2 �5<F/E

%5F56>= <=F5DD5=E: �5E?D>6>4=O=

%F4=44DF 55E?D>6>4=>= E6O7<: LTE Cat.4

�<4?47>= G4EF>F LTE: FDD B1/3/5/7/8/20/28, TDD B38/40/41

%5F56O5 ?D>F>>>?O: DHCP/IP/TCP/P2P/WebRTC

�>445D6<645<O5 >?<5=FO: �>5<?L=O5 GEFD>=EF64 Android < iOS

�D<?>65=<5: FOX Smart

�<F4=<5: 12� DC, 1,0 A

�>FD55?O5<4O <>M=>EFL: �5 5>?55 10�F

$45>G4O F5<?5D4FGD4: >F 330 °% 4> +50 °%

�>?GEF<<4O >F=>E. 6?46=>EFL: 4> 98 % ?D< F5<?5D4FGD5 25 °%

�>D?GE: ABS ??4EF<>

�?4EE 74M<FO: IP65

�454D<FO (LE6E4): 120 E 121 E 59 <<


